WWW.jmap.org

© 2022 Kuta Software LLC. All

Name

rights reserved.

Calculus Practice: Differential Equations 1b

For each problem, find the particular solution of the differential equation that satisfies the initial

condition.
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For each problem, find the particular solution of the differential equation that satisfies the initial

condition.
dy 2x dy 3¢ 3
1 —:—, 2 :0 —_— = =
) oo y(2) 2 y2,y(o) 7
y_ 2 3
e’ =X f —L:3@—%
y=In (x> =3), x> 3 3 3

3 2
y= S%X—z,x>h1§

dy 2x In 16 dy 2x? 3
3) L =" y(-3)= === y(2) =15
) g~ V)= vy 2)
o y 2 1
ool 33 3
3
_In (2x2—2)3X<_1 y= 32x3—1,x>74
2
dy 5 1 dy —3+x° 3
5) 2 =2y2, y(-3)=— 6) —~ = ,y(=2) =10
) g =23 =g y(-2)
3 3
LS DA P
y 3 X 3
- 1 y=vVx’-9x,-3<x<0
y=-— , X<1
2x -2
n Y oy ys0, y3)=2 8) Yo xe’ y(1)=—In >
dx 4 dx 2
2\/§=X2—6 _e—V:X?z_g,

X ’
y:(——s),x>v% 2
2 y:—ln(—%+3),—\/g<x<\/g

-1-

© 2022 Kuta Software L L C. All ri1ights reser ve d . Made with Infin ite Calculus.



10
5 In —
) L= y=—2
dx e2y’ 2
e_2y_5x3
2 3
10x°
In ;
= , X>0
y 2
iy Yo X )=
dx y
2 2
X—:—5—+1

y+2

15 ¥ 2 ,y(3) =

dx

In ‘y+2| =——

1

y=3e

© 2022 Kuta Software LLC.

X—2.x>0

—2e+3\3/e—2
e

1 3In3+1
+7

3

All ri ghts rese rved .

10y -2 )
dx X
L=ln‘ ‘
2y
y=-— 1 0<x<\f
2In x| -1
1) Y_Y*F2 o)
dx X

In ‘y+2‘ =In ‘X‘
y=-X-2,Xx<0

dx Iny

2
(In y)? _ 1
2 2 2
y= e—\/—3x +1 33 X < 3

d 3yx 1
14) == (0=

-

Made with Infinite

Calculus .



